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m= al X SL = 1.25 X 24 = 30.0 N/ud
XoT m = 30.0 N/mf
(3)KEAFEW/C) m= -22.4 + 29.8 X C/W
W/C =208 = (30.0 + 22.4) X 100 = 56.5 % = [60% (L-EE4#E) ]
JW/C = 565 %
(4) BprkE (W) BTEOERKICED W = 158 ke/m
(B)VEMEACFRE(C) C =W~ (W/C) X 100 = 158 = 56.5 X 100 = 280 ke/m
Cv=C =~ BE = 280 = 3.02 = 93 L/m
(6) ZER & (A) A =45 % X 1000 = 45 L/xd
(7) BALHEMERE (G MTHEOEFCED NEFHE = 0.634 m/m EHEE = 62.0 %
Gv = 0.634 X 1000 X 62.0 = 100 = 393 L/m
Glyv = Gv X 250 % = 98 L/od Gl= GIvXZEREEE = 08 X 2.7l = 266 kg/nt
G2v=0CGv X 250 % = 08 L/t G2= GWXEKEHE = 098 X 2.71 = 266 kg/mt
G3v = Gy X 50.0 % = 197 L/ni G3= GIWXFEEFE = 197 X 270 = 532 ke/m
(8 )E{J_%[H'E‘H%(S) Sy = 100 — WH+Cv+Gv+A) = 1000 — 689 = 311 L/m
Slv = Sv X 60.0 % = 187 L/ Sl= SIvyXFKEHEE = 187 X 2.64 = 494 kg/m
S2v = Sv X 40.0 % = 124 L/m S2= SWIXEEEBE = 124 X 2.67T = 331 kg/m
(9)MIEHME(s/a) s/a = Sy =~ (Gv+Syv) X 100 =442 %
(10) BEmiEfAE (Ad Ad = C X FEINE X BE = 280 X 0.5000 % X .00 = 1.40 keg/mi
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